10.

1.

12.

13.

14.

“RO-HAS o= &R TS H RI-HT SRR T ?

(A),., 3T (B) (c) ifererhfeR (D) ¥
FEfdsrow v wmadis s '
(A) T (B) sfew (C) ™ (D) T
i & ool e

(A)  SwTT (B) g (), == (D). AL 3
it arita’ wsg I T W o ¥ .

(A) - (B) waiw-sifueh  (C) - (D) =IEA-3Y

‘aﬁm@ﬁ?ﬁﬁ@rmw'—sﬂwﬁmﬁaﬁqmw%?

(A) TERTE v (B) Wwsw wfewm (C) YqRgAE WO (D) EfeTy fdeRrd
Trfaiad § 9 9= & Y5 §9 &1 999 Hif

(A) =% T fagw Afeern ot (B) fagHt Afeen of =1

(C) <= U= fagr wfean off | (D) % T Hfeen fagr ot

YIS TR fohg won § Feifuq § 2

(A) TFad _ o
(B) dfHw @
(C) Wﬁ%ﬁﬂiﬂ?ﬁﬁﬁ’ﬁ%@ﬁﬂ_

(D) T=<id

o Di-H1 T ¢ TR SR 92 94W g 8, ﬁﬁummmqﬁﬁﬁ@ww%7
(A) TIEY FHE (B) HHURT WHM (C) ERCUERSEIES (D) STHHIHE §H™H

R QT o ST w%m@ma&n

(A) STgEE (B) TSR (Cy W (D) g™
3%, 3 S e TR & @R E?

(A) IrTgEed (B) faga (C) 347&%51?' (D) Hgd

‘TN’ 91 T T BT | 4

(A)  THha=A (B) =T (D) ST Sga=A

"3 it BTl IR-IR 7Tl =il 1 o7 ¥
(A) BA - FHYS H FAGR THIM Tl Teral
(B) St I S 3T W STeT Hehell ©
(C) ¥ Tt AR IR-<R =&l sl

(D) 9% T =oem -7l wa

ﬁmﬁrﬁaaamﬁ%a@rwamaﬁq—m‘aﬁm%?
‘ a1t i feaTe AN WE I
(A) ST HRH (B) HEIYA HR& (c) Ifytor FRF (D)  HEH FRF

‘ﬁﬁr—#ﬁu'wwmaﬁwwaﬁw—mm 2

(A) TR-gad ~ , (B) THE-SEITH  (C) <ACII-INTART (D) TETR-JIR
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15. ‘o=’ 3] o1 HAfEnedE 3oy 2

W) s=E (B) v C) -gd (D) e 3 feert
16. 'SR’ KT TARIEET g & .

w T (B) =m C) = (D) T
17. ‘m’wﬁﬁmmﬁmmw%? —

A ® (B) ® (C) TeH (D) %=
18.  TRE WiiewrH Fritner fife o St i Yot T vy’ & Fer foven e @ e foper 7T 2

(A) FHEHT (B) TMMEER  (C). ¥ S (D) e srast
19. = 9 @ sF-w v qwm ¥2 o

(A) = (B) e {©)] s (D) ereren
20. VI W TWE UGH T irm Ay 2 Lo

(A) e (B) Wq SR wHarx (C) ehfer=a (D) =g
21. Tefafed ¥ @ S-w =R &2 2

A 3 B) ¥ (C) = (D) &
22, Y TR HHW T ST § ? 5

(A) g ) fa (), ¥ (D) R
23. ‘i’ v H e g 2 e

A w @ W Uige) R (D) &
24. ‘I’ % A € : i

(A) =1 FA AT , (B) TR =

(C) e (D) _gﬁqsrmzwa
25. ‘Jwnwfed wwh’ - F we W e wwR - ¢

(A) HER HisIq i (B) WM yfasIq =

(C) 21Ul SxAmFHE (D) M SAHFHRIE
26. =1 # 9 S9-91 75 WA § 2

(A) ®R - (B) ®W (C) ™ (D) foarg

27. ‘hd FFH Hed HR T@, R Y s forrsif € 1L,
39 WA Ufad W hIH-91 SRR & ? :

(A) TIFH (B) IHH (D) ST
28, frfafaa # € ergfaum =1 fag -T2
A (L) B) () (D) :-(:=)

29. HA-W AR YS ¢ ? ,
(A) TR & et A St o wen fE@an) (B) &l W HIA FF W B
(C) Tl H Tl-Tral |1 ST 71T | YD) ifer s =iel HET A |
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30. 'HHREA' % WERY

tﬁqﬁﬂ"
(A g v B) T m'é‘q'é'
(C) et = (D) TR
3. W TW DA R Ay (D). BT
(A) TyEEs (B) foweamm. - (C) T
32, “u R T i T ®) TX
(A) witfasw (B) ww (%) PSRt ‘aﬁaﬂ‘{qqﬁma

[W. € 33 & 37 Wenwr wew ] s & m%-mﬂﬁmﬁﬁﬁww@ﬁ@ @ﬁmsﬁ?w
Wwﬁmm&ﬁﬁuﬁgﬁ%mﬁmﬁmﬁm@’? 271 o1 A T mmg_"“%ﬁﬁ
+f o7 7 STl TR e v w8 e ) 99 T G T T Lo 2 e 1T o
@amm%lmmmmﬁuwmﬂm»@%ﬁmﬁ?ﬁmaﬁwﬁﬁﬂmaﬁm
e e et |t e W S € Ry & e 2 i o
R H 2 v § o s e 41 3 Q G Ao ¥ A f % el S e T 3 4
ST 2 ¥ ol o o ot oft Qe T A | T F I T o o i

T | S e & e SR S 8 frer, S S S mmﬁﬁqémﬁwm
Wmﬁaaﬁaﬁnﬁm’m@%ma@ﬁ@@mmmlmmﬁqﬁwmmaﬂ?%ﬁ
< it H st ¥ oA Wifen ¥ e oo Ay I e 7 AT | AT T S
m@mmﬁ@mﬁaﬁﬁwaﬂﬂ%laﬁ%@ﬁmﬁm%mmaé gq@@%lmaﬁzg

@E@Wmﬁ@am,mﬁ%wﬁﬁ?@??ﬁ“W@w@@@%@%mﬁqﬁ e
e T R, T e T St ST ¥ | wty stk o oft 1 o 56 g = i qaw
m%lmmaﬁaﬁmﬁm%aﬂuﬁﬁfu%,;@ﬁamﬁ%ﬁémmw RIRET Wmifgg,
7t o0 SIS, ST ST9aT TEY TR SORD %] 9 T € | TH e I Sl HE AT 8T © Vel 5

TR T T | ST P TR T T 8, e e fe T e 3 e fefa o iR ek o R At < e s g
IR ST & TS W | S 58 7 o7 off gy e oA TereR e €, S EH Wﬁﬁ?éﬁ%%@m
Y Tt Tgd T HE | T R +ft Firorierer farg Sefta 2 g 7, SR TAR FAIT U T e ST R g R, &
T shierd R 5 TN ok frwss AR # @ fa@ A TR fAT T S &7 §, TR T AR S ST §IE
IRE H Tl b1 FHaN | U T8 ST R 5 g7l R, U qRgfon oifiqc o omE © 1 i, 3 a1 it 1% 7 @ ok

T e wt Y 7 2
33. TRIY % STER, 379+ YU ! WhR i & AU & a1 3 BT 2

(A)  FHE-ISHT SAR AT BT (B) 3MUR ¥ Usha T BN
(C) =i afkem e M o (D) TR g e

34. TTRIRIHR Y Tt % TR TEM S HI I HEwEhiEn W 7
(A) T el THheHeh '(B) T R ek s
(©) WTreA@I AT (D) weW Wriemr g

35. Hfaw yrRaafaal & faa :
A FTREEFAHEE (B) " WR a1z 3y
(C) Herws © | (D) eTEmE s
36. Wﬁmm@ﬁ%aﬁmwﬁmqﬁm,
A S O TR Yoy et v e
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37.

38.

39.

40.

41.

42,

43.

a4,

45.

{TRE WA A e Y w2

(A) TS fer (B) TG We St Wy faerm

(C) SR =t sl @ fiemm (D) T st e e

SR B TE e 7 2

A T (B) (C)- fifira (D) i
The national currency of Sri Lanka is : Cx)

(A) Euro (B) Kyat (G)- Ringgit (D)  Rupee

¥ 2021 H A1 % si ¥ s 2000 T & N H A (T foferam ) w9
What is the value (in INR trillion) of Rs. 2000 notes:girculated at the end of March in the year 2021 ?

(A) 4.90 (B) 1.90 (©). 2.00 (D) 6.00

S R A SR Sererge WRev F FHRO S-ard St % s 3qdn % e <t man § 2

(A)  ITEEAS (B) sl (C) e (D)

Which country is known for its extensive use of geothermal energy due to its unique volcanic
landscape ?

(A) Iceland (B) Australia (C) Brazil (D) Norway

s@éﬁﬁmﬁﬁsﬂtwwaﬁwﬁﬁmﬁgwaﬁa@ﬁﬁmm%:
(A) el SSH (B) YoM '

é

(C)-~, IT=TE (D) E¥%e STM

The economically secure white people migrated:from urban areas to suburbs is called :
(A)  Black flight (B) Migration (C)~ Immigration (D)~ White flight

How many countries are present in Africa ?

(A) 56 (B) 50 (D) 52

IRa H * SToH M &’ s’ g ? g i ey

(A) wRH Ariwar fold fmm (B) o Tt efvrEm

(C) T Tl wht ekl feriedt iy (D) UA-TrEE SwE

What is the ‘Operation Green Hunt' in India ? ‘

(A) Counter-insurgency operation in Kashmir (B) Anti-Naxalite operation

(C) Anti-drug trafficking operation (D) : Anti-piracy operation

T=gUieTE (WPI) &1 90 &9 ¥ : , T ]

(A) o T R (B) LIRS

(C) <= ez (D) TITRT WiEH I3

The full form of WPI is : oy

(A)° Whole Price Index (B) Wall:Price Index

(C) Whole Print Index (D) Wholesale Price Index :

Ay M y@m el wle smur gE & Wl & stfafer s firemm

(A) 4-57@ (B) 1-2 /@ (€)= 10-11 @ (D) 7-8¥™@

The financial or the banking system will receive an‘additional boost in terms of Crore of

base money each year. ;
(A) 4-5lakh (B) 1-2lakh (C) 10-11lakh (D) 7-8lakh

MYZ-24 5
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46.

47.

49.

50.

51.

- (D) Internal Trade Commerce

N ST O s % st W i £72

Which international treaty focuses on the rights of children ? ICCPR
(A) ICERD (B) CRC ~(C) CEDAW (D)

: ?
aﬁqﬁmﬁu@aﬁvwﬁammﬁﬂmwwwﬁmaﬁmmmﬁ%'
(A) It g Wi fafies (GAIL) _[(B) i T it Fefie

(C) & ok wigpfaws fw frm fafiee (D) 3feam o
Which company has become the first company in India to trade domestic gas on Indian Gas
Exchange ?

(A) Gas Authority of India Limited (GAIL) ZB) Bharat Pgtroleum i
(C) Oil and Natural Gas Corporation Ltd A gD) Indian Oil Corporation L

SAARG 1 Haels 991 § ?
(A) =Y TRER THIRTEE Wﬂﬁwaﬁaﬁ{‘m

(B) URY THIHT THMIWRM BR IS hISHIEH

(C) WSU-3= TRME THIRITRH R 45 HISTRE
(D) URY RS THIGTH R IS HIAIEM.
SAARC stands for :

(A) South Asian Association for Regional Gogperation
(B) South African Association for Reglonél C—ooperation

(C) Southeast Asian Association for ReglonéT Cooperation
(D) South American Association for Reg|0hal “Cooperation

el g1 wRifed Aefders OTT Eilst - F@hmmﬁi‘sﬁmﬁm7

HI

(A e sreamit (B)ﬁ_jﬂ'("f gl

(C) T=it Az (D) , Tommer STRETS ‘
Who directed the critically acclaimed NetflixOTT series - Delhi Crime ?
(A) Nikhil Advani (B) “Hansal Mehta

(C) Richie Mehta (D) - Vishal Bharadwaj

FfTEE T W ITC FT I TTFNE?
(A) S T I (Stiafer R ais)

(B) TYe T hfe i
(C) SeoRMd o ot T S

In terms of economy, what is the fuII form of: -l' C?
(A) Internal Tax Commerce
(B) Input Tax Credit

(C) International Tax Company

WﬁWgﬂWWﬂﬁﬁWW%’
(A) Taa=r (B) & (C) fgE=R (D) &

National Milk Day is observed in India, in which month ?

(A) September (B) November (C) December (D) June

MYZ24 6




53.

54.

55.

56.

T e Sifafrem, 1956 foRe o Aifd e S S ?

(A) a1 (B) EEITH H  (C) ToW & (D) & I
National Highways Act, 1956 is applied to which.tax policy ?
(A) Service tax (B) Professional tax /(G), Entry tax (D)

Tl SEE (A wR R R e E?
(A A= B) wfIE (C) e (D) o T

Galilean satellites (or the four moons) belong to which Planet ?

(A) Neptune (B) Saturn i(d) Jupiter (D) Uranus
ST R W R T (s

(A) Tgaid (B) IhUMT 31ee

(C) YR % &I <R (D) WY

Who has the power to dissolve Lok Sabha ?

(A) President (B) Speaker of Lok Sabha
(C) ChiefJustice of India - (D) Prime Mlmster

Toll tax

(A) wiaad 100 & & a7 ISR T
(B) Tt & F IR A ATHY ‘
(C) Fact T AHD! B LA HEA
(D) mmwm

andhi National 'RUral Employment Guarantee Act

(MGNREGA) ? :
(A) Guaranteeing 100 days of wage employment per year
(B) Offering employment in the private sector
(C) Targeting only skilled labor

(D) Providing urban employment

ASEAN (eTfaar) & deg & 9Ra i ‘TR S8 Hifq o @ e ®?

(A) efeo-gd TR S o Wy S, mmaaﬁim@ﬁmwﬁaﬁmé‘cﬁ%
(B) SAMR & 1T FH H& ©
(C) e Wl i it hedt &

(D) STerTEEE) A H FgE St § s '

In relation to ASEAN, what is the importance of lndla s Act East policy ?

(A) Enhances economic, strategic, and cultural ties with Southeast Asian countries
(B) Reduces trade opportunities .

(C) Limits diplomatic engagement
(D) Promotes isolationist policies

o )f

I

iy ]
\[! i ‘"] L 'rﬂ
i r
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57.

58.

59.

60.

61.

62.

63.

' ?
el 8, Foret e Y s s 3 for 2024 i e, i A SRR R

(A) <sEe-3 frem (B) W 3ffefet e

© (D) - SwT-2 i loration ?
Recently, which mission received the 2024 John L. ‘Jack’ Swigert Jr. Award for space exp '
(A) Chandrayaan-3 Mission B) Mars Orbiter MISSIOH'

(C) Gaganyaan Mission (D) Chandrayaan-2 Mission

DDoS <kl et Wil T g % ;

(A) Teliesges o1 oifw widy (B) - eriae femme i afdd

(C) feove fommmt sitw wife (D) - fefigepes fermaa @it afd

Full form of DDoS is :

(A) Distributed Data of Serwce (B) ~Direct Denial of Service

(C) Detailed Denial of Service " (D) Distributed Denial of Service

2014 ¥ WRa H o Wift [ehr e yrer foman 2

A) s ]| (B) %omw wemelf  (C) meX I (D) =mfean que

Who received the Nobel Peace Prize in 2014 in India ? ) .
(A) Amartya Sen (B) Kailash Satyarthi (C) MotherTeresa (D) Nadia Murad

TS = T ReA o < Afew? mmﬁi@n§%7

A) fo= iiem (B) THTH. ™I ¥ %(C) oifd e (D)  4fAE B
Famous book Tha Return of the Native’ is wntten by whom ?

(A) Bill Gates (B) MM.Kaya  .(C) LioyDouglas (D) Thomas Hardy
T fefaiaa 7 | frw T # w ats Sg R ? ' :

(A) TE=H (B) TSR@ = _(C) Flesdh (D) WENE

Ellora is a sacred site in which.of the follow wing:state ? :

(A) Rajasthan (B) Guijarat ;_1_ _;(C) Karnataka (D) Maharashtra
ifafaart i €2 |

(A) ésrrﬁaﬁﬁawﬁaﬁaﬁéxwwawaﬂﬁ%
(B) SIS il A % SHIER T STHIT Ry &

(C) S=ifTh il St e} 1 3Teae & & |

(D) ST St TR T 37T Eh‘{?f % :
Who are ethologists ? "
(A) Scientists who study the behawour of wuld animals
(B) Scientists who study the behaviour ofhumans

(C) Scientists who study only plants
(D) Scientists who study ethos

mmammmmwmmmmmwmm%mww%v
(A) e (B) wedH .30 St (D) Ffags -

Which traditional dance form originating from Qttar Pradesh Is recognized for its dramatlc storytelling
and intricate footwork ? -

(A) Bharatnatyam (B) Kathak (C) Chhau (D)  Kuchipudi

i]x

xlwl ”
1 A “"’

li,
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64.

65.

66.

67.

68.

TUTFTHSAT HE = Gie 1 (PMFBY) &1 2
(A) Sifaw St gensti &1 wue sik gem@

T 37 ¥ SR <ot B fofei femarl I
s iy faft=ll = oM & faT
(B) WWWﬁﬁﬁwmﬁaﬂTWWﬁ@ﬁaﬁm%mm
HI T

(D) Ffy &= § w=Awe SR & 9T w0
What is the Pradhan Mantri Fasal Bima Yojana (PMFBY) ?

(A) Supports and promotes organic farming practices and provi idi
adoption of sustainable agricultural methods:-., : B feUbsidiss o, faifmers. 10 (1

(B) PMFBY improves rural infrastructure and provides emplo ed1 .
agricultural communities. ployment opportunities to youth in

(C) Itregulates agricultural markets and ensures fair prices for farmers’ produce.
(D) Supports sustainable production in the agriculture sector.

feaex oiR ™S9 Wive Hifsan wiewd | ' SlwEs SRR’ gt £

(A) T TH WESi-eh S a1 e ¥ Feife § 1Ry §

(B) WA H T =Y W Iy §
(C) T = SYAN faqmaa & forw fepan o ©
(D) T T STEFER TN Tehan i & B, |
What does “verified account” signify on social media platforms like Twitter and Instagram ?
(A) The account belongs to a public figure or organization and is authenticated

(B) The account has a high number of foIIowers_’ 4

(C) The account is used for advertising
(D) The account is frequently used

The Universal Declaration of Human Rights is translated into how many languages ?

(A) 200 (B) 400 (C) 500 (D) 300
e form Sw = 9= 872 4Py

(A st (B) TmIMTEM (C) Y™ “(D) TS
Real is the currency of which country ? F
(A) | Brazil (B) Afghanistan (C)-___ﬂ_ Bhutan - (D) Canada

R F e S (Y 3R ) A T SR §7?
(A) RG ¥ iR Fi faerr Y sIgren 3| o,

(B) JATa TE & ¢ % W Welelf S AR H GERH |

(C) e uferen & i % WY WiEhieh SMEH-TEHSIR ARl o S Hoeh e |
(D) <fel-gd wirn % Wil ek SR wmfih HelH St et HE |

What is the main purpose of India’s Look East Policy.?

(A) Promote agricultural development within India-. ¢

(B) Improve relations and trade with European Union countries.

(C) Enhance cultural exchanges and people-to-people contacts with countries in East Asia.
(D) Strengthening economic and strategic ties with Southeast Asia.
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69. 1942 H YRA VIS SACIeH % WA YR 1 IIETT HIA 9 ?
(A) € aaa (B), W< A
(C) S s¥fem (D), i femfeer
Who was the Viceroy of India at the time of the Quit India Movement in 1942 q
(A) Lord Wavell (B) — Lord Mountbatten
(C) Lord Irwin (D)-- Lord Linlithgow
70. A o § T A YRR A1 SUH €A e srgern e B ;
(A) T (B) = fagfein () Hefafum (D) E-He =T
involves changing data prior ot.during input into a computer. ' _
(A)  Smishing (B) Datadiddling ~-.(C) Catfishing (D) E-mail bombing
71. S, HIARRES R Y § ¢ .
A) T T (B) WM EUR  (C) FRW (D) Tt FHafq
Trademarks, copyrights and patents are : }
(A) Intangible assets (B) Current assets (C) Investments (D) Fixed assets
72. N W IW 2021 H s 1 H Gl w9 § STENT HA 1 ged o o T2
(A) STEH (B) o WaER - «(C) fragerdts (D) ega
Which country became the first to make use.of:Bitcoin as a legal tender in 2021 ?
(A) Japan (B) ElSalvador 1__"(C) Switzerland (D) Venezuela
73. Frefefed § @ w1 @ 0 yevwen # Frif S derr wE e S Tee 39 o 2
(A) TS fhren
C) ®H
Which of the following countries was the fir
setting ?
(A) United Kingdom - ¥
(C) France © (D) United States of America
74. Tod o7 1 youm Ty fgow & €9 § A9mn S &2
(A) HTE T TET FHAR (B) T I Y8 HIER
(C) &l <Rl Eq AIFER (D) =g =1 wge fA
Which day is observed as No Smoking Day% .
(A) Second Wednesday of March
(C) Third Saturday of January
75. 9IRS 99 I WG i | ® 2
(B) wufd FRramsit werrst a%g WIRed, o
(C) WIEIR ST HURITE, TSR
(D) YT WU, hicTehlal
Which is the largest museum in India ?
(A) National Museum, New Delhi
(B) Chhatrapati Shivaji Maharaj Vastu Sangrahalaya, Mumbai
(C)  Salar Jung Museum, Hyderabad
(D) Indian Museum, Kolkata
MYZ-24 10



! 76.

77.

78.

79.

80.

81.

82.

83.

84.

(A 72(2/3)% (B) 66(2/3)%

T e a7ufen w2 o & fou 5% @t XA =hdfs = 3280 T09 ¥, o 7ot TR fepat §2

The compound interest on a certain sum of money for 2 years at 5% is Rs. 3280. Then the sum is -
(A) Rs. 36000 (B) Rs. 32000 (C) Rs. 34000 (D) Rs. 30000

1 6 BT o7 eid YR 50 T S, 2 ST 1 S MR 53 R 8, 3iK 2 ST o siga w55 fem €, A
SEI &1 3 YRE:

(A) 525 f&mm (B) 55 fermm (C) 51.6 femm (D) 64 fHm

If the average weight of 6 students is 50 kg; that of 2 students is 53 kg; and that of 2 students is 55 kg;
then the average weight of all students is :

(A) 52.5kg (B) 55kg +(C) 51.6kg (D) 64kg

39 =afe wiafe 10 s W & 12&=ﬁﬁ@ﬁmaﬁmmm% 1 30 =afr wfafe 6 5
T wE w e Tl # @@ s ?

(A) 26w (B) 14 T (©) 15 e (D) 20 f&A

39 persons can repair a tunnel in 12 days working 10 hours a day. In how many days will 30 persons

working 6 hours a day complete the work ?
(A) 26 days (B) 14days (C) 15days (D) 20 days

T TR TS W Fad 990 3R 1330 W fawifs et W shHw: 6 3R 10 Jrathet I B F
The greatest number which divides 990 and 1330, leaves remainder 6 and 10 respectively is :
(A) 35 (B 15 (C) 20 (D} 24
300 EgsT &1 fasa e, 500 aRgel & I Hed U ¥, Q=i =1 e e T e
S.P. of 300 articles is equal to C.P. of 500 ar} cles Find the loss or profit percentage.
N 24(2/3)% “ (D) 25(2/3)%
30 TSt T T4 1. 2%|3——|ﬁ‘é%@r20waﬁaa1 1% ol orTet 9 o sivera 1 B, < sifem GEm FE2

The average of 30 numbers is 1.2. The avera e.of the flrst 20 of themis 1.1 and that of the next9is 1.
Then the last number is : e

(A) 4.9 (B) 4 5 (D) 46

Teh THT 9 80,000 T9F H T =il aﬁ?@n@@ﬂ?ﬂlwﬁaﬁ%aﬁ 10% & Y W AR St Dl 5% i
T R T o | S8 ST QSR W 1% i ARFEl 8, @ SIS o god 1 ot 2

A man bought a horse and a carriage for Rs. 80,000. He sold the horse at a gain of 10% and the
carriage at a loss of 5%. He gained 1% on his whole transaction. What is the cost price of the
horse ?

(A) 32,000 (B) 18,000 (C) 20,000 (D) 30,000

S =) T ST e S S 40 TR/ feeium ok 30 TR/ feem €1 2 S @ e
31 7 et ST =g i fagon st 32 T3/ el TSeH W IS A 91 e T8 2

The ratio of quantities of sugar in which sugar costing Rs. 40/kg and Rs. 30/kg. In what ratio both
sugar should be mixed so that there is no gain.or loss when the mixture is sold at Rs. 32/kg ?

(A) 3:1 (B) 4:1 _2(C) 14 (D) 21

o forenedf 3 6 Y- 1 Then € | Yol Y- & fu stfuenan i ThauH ¥ | WRA-= A Sk
W5:6:7:8:9:10¢mﬁ%|wmw%60%wmmlwﬁmﬁm—ﬁﬁaﬁaﬁw
3Rl & 60% | HH i yra e ? -

A student appeared in 6 papers. The maX|mum marks are the same for each paper. His marks i in this

less than 60% marks ?
(A 3 (B) 4 (C) 5 (D) 2
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85.

86.

87.

88.

89.

90.

91.

92,

U W e H, A 0 5 % 1/6 3 ey it o1 1/6 0T P I B‘g?aﬂﬂqa;“‘;j fera
@ﬁm1/4mﬁéww%ﬁhomw@w%mﬁ%mm% 3 1940 T 3 T H B 1 e
feram %2 )

t
In a partnership business, A invests 1/6th of the capital for 1/6 of the total time, B invests 1/41" of the

capital for 1/4 of the total time and C, the rest of the capital for the whole time. Find the share of B, Ol{t
of a profit of Rs. 1940. ; :

(A) Rs. 120 (B) Rs. 160 (C) Rs. 180 (D) Rs. 200
50% R 40% i i e fefft Tehet 2 3. aer § 2

Successive discounts of 50% and 40% equal a single discount of :
(A) 20% (B) 70% L. (C) 48% (D) 60%

12,ooomm9uﬁﬁ%mzo%uﬁfaﬁa§r%ﬁm@m,m@mw%:

The compound interest on Rs. 12,000 for 9 months at 20% per annum, interest being compound
quarterly is :

(A) Rs.2089.70  (B) Rs.2136 (C) Rs. 1750 (D) Rs. 1891.50

A T T 1 63 fRell & o Wt § ofiC B, A 1 g A 40% i Fo &, 1 S & R FH H BEW
o e feAl = dem R ? -
(A) 60 fE (B). 45 fem

Acan do a piece of work in 63 days and B is%
by B to do the same work is : =

(A) 60 days (B) 45 days (C) 49 days (D) 40 days
T&H 792W/wﬁnﬁﬁaa@%,%§7ﬁaﬁﬁ@@ﬁaﬁmmﬁ% T e A
HferT | o

(A) 126t ~ (B) 154 _i(C) 150 Ht (D) 118t

A train is running with a speed of 79.2 km/ h—r aﬁd it crosses a pole in 7 sec. Then find the length of the
train.

A) 126m (B) 154m (C) 150 m (D) 118 m
I ToIsha Y 1 7% T A & 8% & TR IR IS TI5hal 7T 1 9% T e T 2 T | 10% 31w
®, 1 g oo 3R fasha oo I &I |

If 7% of S.P. is equal to 8% ofC P. and if 9% fS P.is Rs 2 more than 10% of C.P, then find C.P. and
S.P.:

(A) 350, 400 (B) 700, 800 :3-(0) 800, 950 (D) 350, 700
(? §"——

3 SR i T T ST 3:4:6 T, sﬂmm{{mﬂ{ﬁm*uﬁww T W9 <hT ST 1 & 2

The ratio of speed of 3 cars are 3:4:6. Whatls the ratio of time taken by these cars to cover the same
distance ?

(A) 6:4:3 (B) 4:3:2

;(o) 49 fea (D) 40 f&

0% more efficient than A. Then the number of days taken

I
1y

ul

l’[
4 !

(C) 2:3:5 (D) 3:4:6

0.7, 0.35,1.05 1 A.H.9.(HCF ) T g 1™,
Find the HCF of 0.7, 0.35,1.05.
(A) 0.7 (B) 0.35 (C) 1.005 | (D) 0.07

DX
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93.

94,

95.

96.

97.

98.

99.

afe ferelt g TR T qeu @ 40% sifurer 31t ¥ 1 Al og o sifrd IO W x% B g § W ¥, @ 12%
1 ST T T el € | 379 AfE T T T A T 2,400 TIF & I x% A ifesq ¥, @ 59 7 9
=1 Tershd e =) a1 =Ifwe ?

An article is marked 40% above the cost price. If a discount of x% is given on the marked price of the

article, then a final profit of 12% is obtalned. Now if C.P. of a new article is Rs. 2,400 and x% profit is
desired then what should be the selling price of that new article ?

(A) Rs. 2,480 (B) Rs. 2,880 (C) Rs. 3,480 (D) Rs. 2,400

TEE T SIS 9 H T 66 M/m%aﬁtwﬁmﬁmawzﬁmﬁissﬁm/m% A oeTd W, 99
ﬁﬁ%ﬁﬁc’ﬁﬂ%%’

Excluding stoppage, the speed of bUS Is 66 km/hr and including stoppage it is 55 km/hr. How many
minutes does the bus stop per min ?

(A) 19 (B) 20 (C) 10 (D) 15

If o g i el e Wk @R ¥ R 270 Teuft amred ¥H SN €, @ 9w forw fawn @ iR e s =S
<?

(A) <o (B) SW® - ©) w© (D) ufeH

If you start facing East and turn 270 ‘::‘ézg: rees anticlockwise, what direction are you facing now ?
(A) South (B) North=" =

l!!i[l

o

ll

s (C) East (D) West

T Trfsra ge o H, ‘ELOWER’ =i hF@ELw' & I H cgle.dm \:udl% G ‘ANIMAL’ﬁsamfa@T
ST

In a certain code language, ‘FLOWE- Zis coded as ‘RFOELW’ then ‘ANIMAL will be written as :
(A) LANIAM (B) LANJAM (C) LAJDNM . (D) LAIANM
frefafiad 3 9 I T ST T T T &2

Which of the following sequences is different from the rest ?

a. 1,4,9,16 b. 1,8,27, 64

. 2,6,12,23 : d. 1,16, 81, 256 ; ,

(A) 1,8,27,64 (B) 2,6,12,23 (C) 1,16,81,256 (D) 1,4,9,16

mﬁmaﬁgﬁﬁﬁvﬁmﬁﬁwuﬁma&ﬁ%sﬁﬁqmmgmmwmw%l

Selectthe optiop in which'the numbers share the same relationship as that shared by the given pair of
numbers.

12:20
(A) 19:33 (B)

}l[ (119

T

ll"
e

ol

lmlm

(C) 25:57 (D) 34:31 ]

siEer § g Ged (A 3R B) E{ﬁ%’{fﬁ\w A T A [ L

= B

Find the missing numbers (A and B r_{ ghe series and find the value of B=A.

11, 22, 33, A, 55, 66, 77, B i
(A) 55 ' (B) 88 (C) 83 ' (D) 44

MYZ-24 13 P.T.O.



100. 39 TR hl Te=™ S Yo ol T it ¥

Identify the figure that completes the pattern.

?

(X)

B U N

o Va

101. frafafaa v H, amaﬁﬁqmwé?mua&éﬁmﬁwq%|mﬁ@wwﬁmmw* R

T ST H G ST S el § | I VR Y g |

o T vk : “MACHINES”
In the following question, you'll find four other words provide

words cannot be formed using the letters of the given word. Can you id

(D) MESH

Given word : "MACHINES”

(A) SEAM (B) NAMES (G) CAMEL

d alongside a given word. One of these

entify that word ?

102. frafafed oTgHe = T | W w3 T, A S At T b IH

RK59#82%*E?A8L$I4SV7!069;\1@5H13&D

TR Een § oTTen ug Fuiia Y 5#2, *?78:$4V,

Examine the following sequence closely and‘fégibond to the questions that follow.

RK59#B2%*E?A8L$I4SV7!06[§F‘@H 13&D
Determine the next term in the series : 5#2, £78,:$4V,
(A) H1& (B) L8$ =(€) He6#
103. Hefud ot @IS : - Cad
o agys a2 7
(A) d9d (B) =
Find out the related word :
Triangle : Polygon :: Square : ?
(A) Circle (B) Rectangle (C) - Rhombus
104. HeiYd 3 <l 9l TFIG | '
e Terfeheder « gl :: oG8 : ?
(A) FIU (B) s
Find out the related word.
Surgeon : Scalpel :: Carpenter : ? = s
(A) Camera (B) Brush ~—(C) Saw

ll
|‘l[
Wit

(D) 6@

(D) =gy«

(D) Quadrilateral

(D) U

(D) Computer

105. afk 12 ‘RECONCILE’ % 43, 53, 79 31k 83/31ari @ o wrefer =R sverd w1 WIeg S0 S Gl 21 9

STl 1 FAT ek ey s1efet v S S EeRd 2.
A) @ S fB) Lxe) =w

ov

(D) =

If a meaningful four Iétters word can be formed from the 4th, 5th 7th and gth |etters of the word
‘RECONCILE’. Using that letters how many meaningful words can be formed.?

(A) Two (B) Three (C) Four

(D) One

MYZ-24 14




106.

107.

108.

108.

RS-

200 BTl o FA&TUN & YR T, 140 BTl 1 hiee & 165 §, 120 Bl I faehsis wig , ik 80 BE1
I IHT TEE € | fohan ol | TH 99 TEE § 2

Based on a survey of 200 students, 140 students.like cold drinks, 120 students like milkshakes, and
80 students like both. How many students like at Jeast one of the drinks ?

(A) 200 (B) 140 (Q)- 180 (D) 75

@ T e ¥ g AR W T DI :

Find the missing letter cluster in the given series i i

BYHN, CWKM, EUNL, , LQTY ]

(A) HSQK (B) HRPQ (C.;)_ﬁ»_}i GSPK (D) GRPK

Frefifiad & @ S T o wheeel, TR SR fre & e e FY T o g § wwi 22

Which of the following diagrams best represents the relationship between Women, Mothers and
Fathers ?

@ O ¥ »©o

== T T SR U S R 6 2006 SR 2007 %
et (1000 =t den #) < g1 -

The bar graph given below shows the sales of books (in 1000s) from six branches of a publishing
company during two consecutive years 2006 and 2007.

2006 amzoo7ﬁ@umam=ﬁaﬁ@gwaﬁ A1,A2 A3, A4, A5 3R A6 T T # TRt (T
I & H) =4

W@mwaﬁww@ﬁmﬁ

i)

Sales of Books (in thousand numbers) from Six Branches - A1, A2, A3, A4, A5 and A6 ofa publlshlng
Company in 2006 and 2007.

20 1o
100
80
60
40

20

0

A1 A2 A3 A4 A5 A6
2006 2007

'ﬁfa@f%WWAZﬁ%ﬁﬁmﬁaﬁ?gﬁqwmaﬁﬁﬁaﬁ@aamaw%’

What is the ratio of the total sales of branch A2 for both years to the total sales of branch A4 for both
years ?

(A) 79 (B) 6:7 (C) 5:7 (D) 8:9

MYZ-24
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110.

111,

112,

113.

114.

; ?
”a?ﬁﬂﬂ?{ﬁﬁaﬁﬁmaﬂ%@ﬁmiﬁmm",mmﬁﬁ,"Tﬁ@gﬁm"‘l' WWW%
(A) =l |y T
(B) TUUY I g TSl Tl
(C) =mact 3raen | 9 T
(D) < i F o
In the context, “They were caught red-handed trying to steal”, what does
(A)  Found with red-hands
(B) Caught in the act of committing a crime
(C) Foundinjured
(D) Act of kindness =
TROTaR 1 3 i it el e s S i w0 & RO 1 e SR e o |
qRUME: | ST duw % e €, O dvw & u €

I S T R
fremd: 1. i o w O )

2. W WS H AR
(A) I Frewe TRy B ¥ (B) et fFrsnd 2 STTERT HEI €
(C) 3 Frepe 1 iR TR 2 ST BER== (D)  Ier Forehd 1 STTET HAN T

Read the assumptions and select the best conclusions/conclusion that follow/follows the assumptions
definitely. B o

Assumptions: | Ajay is the father of Shreyas, Suraj is the brother of Shreyas.

“caught red-handed” imply Y

uu

"Il Seema is the mother:of Shreyas.
Conclusions: 1. Seema is the wife ofAjay.
2. Seema is the mother:of Suraj.

(A) Both the Conclusions follow — =(B) Only Conclusion 2 follows

(C) Neither Conclusion 1 nor 2 follows = = (D) Only Conclusion 1 follows [
€ 2% 4

A A%B=A+B—1,W10%2FME? s e

lfA%B=A+B—1, whatis 10% 2 ?
@A) 11 (B) 12 (C) 20 (D) 5

T AT 10 Hiew ST T S0 T &, R 20 T i e , R 20 Hex < SR e &, fo e
1oﬁam§aﬂwaam%|aaﬂaﬁa?ﬁww?ﬁww%?
(A) 28 HiX (B) 51 HiX (C) 25 iR (D) 45 X

A person moves 10 meters north, then 20-meters to the right, then 20 meters to the right once more,
then 10 meters to the right again. How far.has.he gone from the beginning ?

(A) 28 meters (B) " 51 meters =< (C) ' 25 meters (D) 45 meters

|

e = T § ST Ao 55 Rpel § SIRLAGT 62 fRal @ w1 &1 T R wiE Q weud 99 § aik

% T ¥ R i 1 9o 50 R | SUIE AR 60 forelt @ &7 T 3THT 561 1 fa=r  fF, Sger

5T 58 Tepell st el @ TR § 1 AT W ST S F W &, A wifden & fafvt e s
In Karthik’s opinion, his weight is greater th‘g_n‘"?@S kg but less than 62 kg. His father does not agree with
Karthik, and he thinks that Karthilgs weight is.greater than 50 kg but less than 60 kg. His sister’s view
is that his weight cannot be greatey than 58 kg. If all are correct in their estimation, what is the average
of the different possible weights o;\Karthlk ?

(A) 57 (B) 60 (C) 59 (D) 58

ni:

MYZ-24 16




115,

116.

117.

118.

119.

120.

121.

122.

123.

e A 3R B < 910 70 YHR § R, A & el 1 G©m 20 ¥, B A 7l 1 G@m 18 § 3l A sk B AT A
Tl T GE&A 10 B, W n(A U B) F@ HC N7, -

If Aand B are two sets such that number of elements in A is 20, number of elements in B is 18 and
number of elements in both A and B is 10, ’find n(Au B).

(A) 38 (B) 48 & (C) 18 (D) 28

& T sigen § A WA B G

Find the odd one from the given series :
4, 16, 36, 64, 100, 121, 196, 256 ")
(A) 121 (B) 100 ~»/(C) 256 (D) 36

sj@e 1, 6, 23, 76, H el HE w i |

Find the next number in the series 1, 6, 23, 76,

(A) 274 (B) 148 (C) 198 (D) 237

48 To¥ TH F1H I 14 Tefl & FLweha €112 feli & 5 gl 510 Fre 0 w7 81w 3 wifw
48 men can do a work in 14 days. Find the amount of work done by 5 men in 12 days.

(A) 13.5% (B) 9.8% ‘ (C) 7.9% - (D) 8.9%

q&-wrgssseAKLAém@aﬁgﬂsﬁaﬁmm@@amwmm% A B & 9 F A BR

Q B & FT M2

If the name of a game is formed by rearrangmb the letters of the word TLBSBEAKLA then what will be
the sixth letter from the right end of the name~of the game ? ‘

A T (B) B =1;;—ﬁ(0) S (D) E

q@ &A1, 12, 144, . 20736ma$rraq. g ;

Find the missing number 1,12, 144, . 20736

(A) 1278 (B) 1782 “=(C) 1287 (D) 1728

afg RED & UHG & &9 ¥ whifed feran smars ﬁBLUEaﬁmmﬁaﬁmmm7

If RED is coded as UHG, then BLUE will be ¢oded as : ,

(A) EOXH . (B) EOHU (C) EOHX (D) FMUH

ferer areh o Uge % T 1o et | <for it ol 8 et v € 1 i 9w o sl e € ok i
fomet oo Tge % o 15 Hiet s §1 i e wS #t fada R F 90 ferht wea € ok wiwt Wi 9%
qgaﬁé;f—erqsnﬁaaam%aﬁﬂé@tm%aﬁxmq@%matﬁam%lﬁﬁﬁ%m%w

H st fea fem d §2 .
(A) dfEm - (B) TR N (o) - . S ()

Lihaan walks 8 m towards South from his office to reach park. Then he takes left and walks 15 m to
reach traffic signal. Then he turns 90 degree anti-clockwise direction and walks 8 m to reach coffee

shop, he takes left and walks 8 m to reach home. Office is in which direction with respect to Lihaan’s
home ? o

mlll[f

(A) West (B) South ~=*(C), Noth. - . (D) East
o e e o 8, e et e 9, 135 et o o 1 oot ) e e s
Tfarur-ufzm e foen & € ?

(A) SW-ufzm (B) SW-gd L ‘C) (D) W

In a compass every direction is rotated to 135 degrees from the original direction. In which direction
will South-West be if the rotation took towards clockwise direction ? -
(A) North-West (B) North-East (C) East (D) North

SRR =t
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124,

125,

126.

127.

128.

- -129.

130.

131.

& FiEm s d, Ny, S R D, RFQ, O FP, T K, MHZ, A M SG HIS
e T %, A 39 e # ‘ORGANISM %3 e < 2 ‘ S
In a certain code, ‘N’ is written as ‘J’, ‘S’ ag ‘D' ‘R'as'Q. ‘O’ as P, ‘I'as ‘K, 'M’'as 'z, ‘A as M’an

as 'S', then how will ‘ORGANISM' be written in that code ?

(A) PQDZSMKJ  (B) DZMSJPQK (G- PQMKJZDS (D) PQSMJKDZ

3 S I Y W ol fore a0 gl o o ol feper A 2
What is the angle between the hour and minute_hands of a clock at 3 o’clock ?
(A) 30° (B) 50° (C);- 75° (p) 90°

AR 53 + V243 = 24.249 ¥ W 192 + 1543 A o B2
If 543 + /243 = 24.249 , then what will be the value of 753 + 1543 ?
(A) 38.84 (B) 37.84 (C) 40.84 (D) 39.84

Wqﬁﬁ@awﬂ,wﬁqﬁ,mwéﬁaﬂtwmﬁﬁaﬁtmﬁﬁqﬁmﬁ?ﬁ?ﬁww a1
T B fopem @ 2

A party consisted of a man, his wife, his four sons and their wives and three children in each son’s
family. How many were there at the party ?

(A) 20 (B) 22

(D) 18

6 SRR U, V, W, X, Y 3t 2 5 9, e 91 & o, 0o @ 9 3 s @ o 31 W, V R e 8, 1 i
1A WA X, WH BRI ]1Y, U@ eran-si X, U 9 Bier §1 370 @ =ie Gad ol i § 2

Among 6 persons U, V, W, X, Y and Z, it is knownthat; U is taller than at-least 3 persons. W is taller
than V, who is taller than exactly 1 person. X is not shorter than W. Y is taller than U and X is shorter

than U. Who is 4! tallest among them ?
(A) U (B) W
IRERICRCIEN -

Find the dissimilar word.
R54, W68, U63, L36, Y75

(A) R54 (B) U63 (C) Y75 (D) Wes
¥ g & TM W 3 oeft 9 I 9| SN =

(D) V

mrm|
ol

Find the number that comes in place of the quéstion mark.
1:1:7?:169 ’ g

(A) 15 (B) 13 ()< 18 . (D) 14

[T
| "
I .lll

U

—

M, N, O, P 3iR Q i firs & | 578 @ Telich o Sl 9TeT-Te 1 O, P 3t N & <l # 3iR 31 M sik
Q¥ B § 1 ol TF =fe N 9 Sia | 9ol BRI § 2

M, N, O, P and Q are five friends. Each of therg‘hgﬁs a different height. O is taller than P and N and
shorter than M and Q only. Only one person is shorter than N. Who is the shortest ?

A) M (B) O (C) N D) P

MYZ-24 | 18




132. mﬁwwmﬁmﬁmﬁ@aﬁﬂ—zﬂmm?

Which of the following figures will come inZhe"missing place in

1
o [

O

(B)

O

133, Freffad sfaet § o §e Hi e |

Identify the incorrect number in the fo||bwing series.
12,10, 6, 1,
12

(A)

134, T ¥qol

e W & b, 25 BT % Yot et

-8, —18

(B)

10

(C)

:

i Jr

ﬂl ’

!

the below figure ?

V

-18

(D)

AN

1

a’rﬁzﬁmﬁﬁwmmmﬁawaamw

A9 TS, ﬁégﬁzﬁwﬁrmﬁ% ﬁfaﬁmmﬁaﬁm&ﬁ%ﬁqwﬁ%ﬁaﬁwmw

22

In a school sports club, 25 students dec1ded to partICIpate in-atable tennls smgles tournament. Each

time a student loses a match, they are eliminated from the tournament. What is the minimum number
of matches required to determine the wmner'?

(A)

135. HIG-YHRH 1 AHR T T, m@aﬁﬁaﬁwﬁmm% wmw@qgm?ﬂaw%?
T

(A)

25

(B)

(B)

26

e

(C)

(D)

24

Wqeen

What is the shape of the cross-section, when a cone is cut by a plane parallel to its slant height ?

(C)

(A)

136. faum =t @a Exd
Find the odd one.

(A)

Ellipse

S

(B)

(B)

Circle

[

137. % fopew g i anferdli & fimt B

(A) 39T emfem  (B) ewieM )
Choose the option which is different from the rest.
(A) NorthAmerica (B) Argentina (C)

HERICII (D)
Hyperbola ,(D,)

(D)
o e (D)

South America (D)

Parabola

€

gL

Europe

MYZ-24
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138. f9eT A, B, C 3iiR D # & fod (X) 1 et wrer—wfafeiar g€

D.
Choose the correct water-image of figure ( A, B, Cand
X
@ )
A | o
® LT e -
o] e om o
139. WY W : b
ELI ELERHRS(C 1K
(A) 3T (B) M (D) TS

Complete the analogy :
Rain : Flood :: D ht :
(AE;In Fa(r)noine i (B) Storm (C) Harvest (D) Abundance
140. TH TolOid iR IR--elieity St &id 3o § w=ifF |

(A) e e Ed URitd €, sefn TReTetemmiy e sid o ©

(B) ettt i sreg St @l 1 e  firey e 3 STE € .
(C) F-vrefteheoltar St s 7t & it B ¥, STelfep. Hefteoftar S @it geaft & Wl 2 1
(D) eI St HIal =l T & 1Y s

Sl S TE T | -

A renewable and non-renewable energy source aré-different because -

BT Y R Y 9 ST Gl &, SR R ehd

(A)  Renewable energy sources are finite, while-non-renewable energy sources are mfmbl’:e. i
(B) Non-renewable energy sources are more__fceinvironmentally friendly than renewable energy

sources. =P

(C) Non-renewable energy sources are derivet from the Sun, while renewable energy sources are
£ %3

derived from the Earth.

(D) Renewable energy sources can be replenished naturally over time, while non-renewable energy

sources cannot.

141. Tegent SR BT Wied 1280 =Afermail i Toh T T woia § W & w1 ¥ 1 9fE v 15 o6 & faw, T

Torers 3, o wHe o foran frems €2

A group of 1280 individuals, consisting of teachers and students, is attending a conference. For every

15 students, there is one teacher. How many teachers are in the group ?
(A) 75 (B) 80 (C) 85 (D) 70

142. 3@ FIfSC {6, Spfr (X) F faw 7e gl § HH-2, serfir o S et 22

Find out which of the figures can be formed froné_-tge%pieces given in figure (X) ?

1
il

T

q"

f'!ii “‘!H gy, wmn
1
i

dhun_ i ™Y

®w |[> (®) E © " '1 ©) f ‘
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143.

144,

145.

146.

147.

148.

HI-T1 Ve TR B TR § 2

(A) TSR (B) <ha (C) W« (D) =
Which word does not belong in the group ?
(A) Carrot (B) Banana (C) _ Apple (D) Cherry

T T H, T TEGedl 100 il 9 Y& 8l € | Woioh. SR #, wep faeirel 3 wifaes o1 @ ot 31 5 T3
% 1, Uferd o 130 37 €, e % 90 ofeh T, =Ml 120 sfer ¥ 2l fers F 110 ot ¥ af Sfye I 7=t
3 TS H 30 3k W Ry, T 3ifcrm 2 WS H T Fhe ater et 2

In a game, each player starts with 100 points. In each round, a player can gain or lose points. After

5 rounds, Alice has 11_30 ppints, Bob has 90 points;.Charlie has 120 points, and David has 110 points.
If David gained 30 points in the first 3 rounds, how&__[gany points did he lose in the last 2 rounds ?

(A) 40 (B) 20 ()~ 30 (D) 10

Gz =¥

gfc A+BH A T RF A, Bw%%;Astmwf%—ﬁ%A, B fudi € SiRA-B s1f $ R A, B &t wr
%, Frefafaad o @ SH-w d@eiy quiar & 75 1, K 5% s)fish 22

IfA+B meansAis thr-_J brother of B; A X B means A s the father of B and A—B means A is the sister of
B, which of the following relations shows that | is the niece of K ?

(A) K+YxI-Z  (B) Z-IxY+K  (C) KxY+I-Z (D) K+Y+Z—I
few g formr & Syl (gries ) &t e 62 | |

Find out the number of triangles in the figure:

1
3/4|5\6 =
2 718
10— 732 1,
14 16
15
(A) 39 : - (B) 46 (D) 32
ST hl IS R |

Find the next one.

' ~
X st T L
(A) . (B)

Torom g |

Find the odd one out.

w [ 7 @ R
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(C) =¥t % feer foreprer & (D) 2 wars @ A H S €
How are rivers and streams similar ? &
(A)  Both contain saltwater (B)jff:Both are found in deserts

(C) Both are static bodies of water ()" JBoth flow downhil
a. 1 7R, 2023 T 1Y 23 | 28 A F i+ |

b. = sy a1 Wnfin Sa | L

C. U YA 60% ST F WY HAX TRy # dreigue feult |

d. ety ¥ 50 § | ~gaw 25 37 | il

e. Ak IEAER S T PG 7l & A1 HIHN SRS wehr waed Y e S AT |

(o SeieR ey § = o T T R, A A et & Fifawer S < €
o afk SeEER o1 W A Brew o Wl et ) e A A F7 % TR B

SR
el TR & SuR R wY FAR & 0 H-w FHHaw b o =amel? ‘
TS FAR : M.Sc. $7 HeR 98T 62% 3ishi & 1| 5w fafer : 10 eI, 1990!3%""12?1%'aaaq Sk
4 1T 1 ST | S H 40% e e e '
(A) STHIGER 1 S[FeR el Hee % T A ST S
(B) SHHICER =1 == &l e ST & :
(C) < qaiw ® =
(D) Al % & Fiowres &l Sy
Consider the conditions for selecting facul,_fy_gnembers in a computer education centre :
Age between 23 to 28 years as of Ng?_‘égnber 1, 2023.
Work experience or programming eigp_’er'f_ience. -
Postgraduate degree in computer application with at least 60% marks.
Minimum of 25 marks in the interview out of 50.

If the candidate does not have PG, the case is to be referred to the senior faculty member.

If the candidate does not score minimum marks in the interview, the case is to be referred to

principal of the institute.

g. Ifthe candidate satisfies all other qualifications except the age limit, the case is to be referred to
the director of the centre.

Which course of action should be taken for | Manish Kumar based on the following information?

Manish Kumar : M.Sc. in Computer Scieni’;g;@th 62% marks. Date of birth : July 10, 1990. 4 years of

experience as a computer teacher. Obtained.40% marks in the interview.

(A) Candidate is to be selected as a juriipr;jaculty member

(B) Candidate is not to be selected 7= ;

(C) Dataisinadequate S

(D) Case is to be referred to the directorr_‘gg the centre

e
|

7
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